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QUESTION 1

You are setting up a requisition move order for which approval is required. At the organization level, you have defined
the following: 

However, the approval process is not being enabled for the organization item. What is a possible reason? 

A. The subinventory source type has not been set to pull level. 

B. The Move Order Timeout Action has been set to a value greater than zero. 

C. A planner has not been assigned to the organization item. 

D. The Move Order Timeout Period has been set to a value greater than zero. 

Correct Answer: C 

 

QUESTION 2

What does it mean when you have a serial number in the mtl_serial_numbers Table with current_status as 6? 

A. defined but not used 

B. resides in intransit 

C. resides in stores 

D. pending status 

Correct Answer: D 

 

QUESTION 3

Which four statements are true about subinventory transfer transactions for a WMS (Warehouse Management System)
enabled organization? (Choose four.) 

A. General ledger account needs to be entered during subinventory transfer. 

B. Goods can be transferred across storage locators within the subinventory. 

C. Inventory control is validated. 

D. Storage Locator information is mandatory for a subinventory transfer. 

E. A user-defined transaction type can be used. 

F. Inventory value of an item is transferred from one inventory organization to another. 
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G. Storage Locator information is optional for a subinventory transfer. 

Correct Answer: BCDE 

 

QUESTION 4

.com has implement Oracle E-Business Suite 11i. .com has been an Oracle customer since Release 10.7 Character.

.com is a global enterprise and constantly ships good between organizations for Manufacturing, Repair, Customer
Orders, and so on. .com charges transportation and handling charges on all interorganization transfers, even across
operating units. The value that has been transferred recently started to fluctuate widely and erratically. Incorrect cost
transfers have made the company\\'s books out of balance, and their inventory valuation is not consistent with corporate
standards. Which are four investigative steps that could help you to correct the problem and ensure that correct,
consistent amounts are added to each transaction? (Choose four.) 

A. Check the shipping networks for transfer charges that are a required percentage. 

B. Check the shipping networks for transfer charges that are a requested percentage. 

C. Check the shipping networks for transfer charges that are a requested value. 

D. Ensure that the organizations are all standard costing organizations. 

E. Run transaction history report, perform analysis and determine the start day when the transactions were not to
standard, and how much they were off. 

F. Setup a keystroke tracing program for all MWA Handheld scanners, to determined exactly who is keying, and what is
being keyed in the interorganization transfers. 

G. Run the shipping reports to determine which organizations are causing the problems. 

Correct Answer: BCEG 

 

QUESTION 5

.com has its inventory organizations located in North America, Asia and Europe. North America Inventory Organizations 

Boston Manufacturing Seattle Manufacturing Denver Manufacturing Europe Inventory Organizations 

Netherlands France Germany Belgium Asia Inventory Organizations 

India Singapore Malaysia North America manufacturing organizations are the source of material to the other inventory
organizations in Europe and Asia, but for all the Europe inventory organizations, the inventory is sourced from the
Netherlands organization. Select all the networks that need to be set up to meet this requirement. (Choose all that
apply.) 

A. all the European organizations with all the Asian organizations 

B. all the North America Inventory organizations with all the Asian organizations 

C. between all the European organizations 

D. all the North America Inventory organizations with Netherlands organization 
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E. all the North America Inventory organizations with all the European organizations 

F. Netherlands organization to all the other European organizations 

Correct Answer: BDF 

 

QUESTION 6

A customer produces stents at several factories that are set up as inventory organizations. The company needs the
ability to uniquely identify each stent and know which factory produced it. Regulations require that each stent be
identified by 16-characters. What would you do to meet this requirement? 

A. Set up serial control, by using the prefix for the factory, and a starting serial number of 15 characters. Set Uniqueness
to Across Organizations. 

B. Use lot control, by using the prefix for the factory, and total length of 16 characters. Set Uniqueness to None. 

C. Use lot control, by using the prefix for the factory, and total length of 15 characters. Set Uniqueness to None. 

D. Set up serial control, by using the prefix for the factory, and a starting serial number of 16 characters. Set
Uniqueness to Across Organizations. 

Correct Answer: A 

 

QUESTION 7

Which four statements are true about defining physical inventories? (Choose four.) 

A. Physical inventory suspends other transactions; all other inventory transactions will fail at the inventory interface from
the time the snapshot is taken until the physical count is either accepted or rejected. 

B. Physical counts are reviewed, and either accepted or rejected as a whole. 

C. There is no tolerance limit set on the Physical Inventory; it is a user\\'s decision to accept or reject the entire count. 

D. Physical inventory takes a dynamic count of inventory on hand, accepts inventory transactions during the inventory
count process, and makes inventory adjustments against the dynamic quantities. 

E. Physical inventory takes a snapshot of inventory on hand at the beginning of the process; all adjustments are made
against the snapshot quantity. 

F. You can define multiple physical inventories to count selected portions of your inventory, or you can count your total
inventory. 

Correct Answer: ABEF 

 

QUESTION 8

You are defining the staging subinventory for your sales order pick release rule. Which flag should be set on the
subinventory setup for pick release to work? 
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A. The subinventory should have the Nettable flag selected. 

B. The subinventory should have the Depreciable flag selected. 

C. The subinventory should have the Reservable flag selected. 

D. The subinventory should have the Pre-Processing Lead Time field populated. 

Correct Answer: C 

 

QUESTION 9

Which three are true about the item master? (Choose three.) 

A. It is possible to associate items in one item master organization with another item master organization. 

B. Oracle recommends that you limit the Item Master role to solely an item definition organization. 

C. It is NOT possible to associate items in one item master organization with another item master organization. 

D. When an attribute control is set at the item master level, updates can still be made at the item/ organization level but
these updates will not propagate back up to the item master level. 

E. When an attribute control is set at the item master level, updates are not allowed at the item/ organization level. 

F. It is possible to copy items across item master organizations. 

Correct Answer: BCE 

 

QUESTION 10

What does it mean when you have a serial number in the mtl_serial_numbers Table with current_status as 6? 

A. pending status 

B. defined but not used 

C. resides in stores 

D. resides in intransit 

Correct Answer: A 

 

QUESTION 11

Your customer decided to use min-max planning for some items in specific subinventories. You caution him to not
include too many customer orders when he runs the report. What do you suggest he use? 

A. ASCP (Advanced Supply Chain Planning) 

B. Supply Cutoff Date 
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C. MRP (Material Requirement Planning) 

D. Demand Cutoff Date 

E. Supply and Demand Cutoff Dates 

Correct Answer: D 

 

QUESTION 12

You are required to transact an interorganization transfer for Item 

A. Before the transfer, you must determine _____. 

B. planning lead times 

C. and define general ledger accounts to be used in transit 

D. and define a shipping network between the organizations 

E. material ownership during transfers 

Correct Answer: C 
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